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1. Dati	i	vettori	v1	=	(1,1,1)	v2	=	(3,0,-1)	v3	=	(-1,1,-1)	stabilire	se	sono	una	
base	di	R3	

2. Stabilire	se	S	={	(
𝑎
𝑏

𝑎 + 𝑏
)	|	a,b	Î	R}	è	un	sottospazio,	in	caso	affermativo	

trovarne	la	dimensione	
	

3. Stabilire	se	S	={	(	
𝑥
𝑦
𝑧
	)	Î	M3,1(R)	|	2x	+	z	=	0}	è	un	sottospazio,	in	caso	

affermativo	trovarne	la	dimensione	
	
4. Dati	i	sottospazi	U	e	V	di	R4	stabilire	se	U	+	V	è	diretta	
	

	 	 U	=	⟨(1,0,1,0)|(1,2,3,4)⟩		 	 	 V	=	⟨(0,1,1,1)|(0,0,0,1)⟩	
	
5. Determinare	una	base	di	W1,	W2,	W1	Ç	W2,	W1	+	W2	

	
	 W1	=	{(x,y,z,t)	Î	R4	|	2x	+	y	+	z	=	0,	y	–	z	=	0}	
	 W2	=	{(x,y,z,t)	Î	R4	|	2x	+	y	=	0,	y=	0}	
	
6. Determinare	una	base	di	W1,	W2,	W1	Ç	W2,	W1	+	W2	

	
	 W1	=	{(x,y,z,t)	Î	R4	|	x	+	2y	+	z	-	t	=	0}	
	
	 W2	=	<(1,0,0,0)	|	(1,0,1,2)	|	(1,0,1,0)|(3,0,2,0)	|	(5,0,4,4)>	
 


